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PART -1: GENERAL ENGLISH

1. When your friend receives a gold medal in sports, what would you say?

(1) Ohmy God! (2) How disgusting!
(3) Whatamiracle! (4) Congratulations!
2. Mr Raois interested in travelling. I think he can suggest you the best places of visit.
(1) Expressing opinion (2) Expressing gratitude
(3) Complaining (4) Expressing adequacy

3. What was the author’s motto in presenting the story ‘What is My Name?’
(1) to bring out the identify of women
(2) toremove orthodoxy
(3) to confine the women to household chores

(4) to forget their name and continue a dependent life

4. Which of the following incidents make ‘The Brave Potter’, a funny story?
(1) The Potter drinks some palm-wine to feel better.
(2) The King declared the Potter his Army General.
(3) The Potter’s wife brought the letter of the enemy king to the Emperor.
(4) The Potter hung on the back of the horse like a sack of rice praying God for his life.

5. It doesn’t seem delicate, somehow to own your father’s slippers.

(Find the antonym of the underlined word)
(1) smooth (2) tender
(3) awesome ' (4) horrible

6.  Identify the Greek words from the following.
a) thesis '
b)  species

c) erratum

d) crisis

(1) (a), (b),(c) (2) (a), (c), (d)

(3) (a),(b),(d) (4) (c)only
V-General English 3-A
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7.  There are many mistakes in your answer. Rewrite everything.
(Combine the sentences using ‘since’)
(1) Since there are many mistakes in your answer, rewrite everything.
(2) There are many mistakes in your answer since rewrite everything.
(3) There are since many mistakes in your answer, rewrite everything.
(4) Since there are many mistakes in your answer, so rewrite everything.
8.  Idonothave enough clothes for my journey.
In the above sentence ‘enough’ acts as

(1) anadverb | (2) anadjective
(3) anoun (4) averb
9.  The context / subject is the necessary element for a
(1) Diary entry (2) Aspeech
(3) A description - (4) Alltheabove
10.  Which of the following is the most important element for a diary entry?
(1) the mood of the writer (2) formal greetings
(3) note making of an incident (4) address of the writer

(11-15) Read the following passage and choose the correct answer to the question that follows.

One day, a father of a rich family took his young son on a trip to the country side to show
him how poor, people can be. They spent a day and a night in the farm of a very poor family.
When they got back from the trip, the father asked his son, “How was the trip?”

“Very good, Dad!’ said the son.
‘Did you see how poor people can be?’ the father asked.
“Yeah!” ‘And what did you learn?’ asked father.

The son answered, “I saw that we have a dog at home, and they have four. We have a pool
that reaches to the middle of the garden, they have a creek that has no end. We have imported
lamps in the garden, they have the stars. Our patio reaches the front yard, they have a whole
horizon.” The boy’s father was speechless. His son added, “Thanks Dad, for showing me how
poor we are!”.

Everything depends on the way we look at things. Our positive attitude and true spirit,
makes us feel we have everything.’

11. What did the father want to show his young son?

(1) every nice thing in the World

(2) the country side

(3) how a city life is better than country life

(4) how poor, people can be at the country side

V-General English 4-A
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12.

What was the son’s feeling after their return from the trip?

(1) He felt tired (2) He was speechless
(3) He liked the trip (4) He felt angry upon his father

13.

What did the boy learn about the country side during his stay?
(1) People are very poor at country side.

(2) People at country side are much more happier than the rich families.
(3) People own big houses.

(4) The country people have sleepless nights.

14.

What was mainly focused in the passage?

(1) The difference between natural and artificial life
(2) The similar features in father and son

(3) How rude was a father to his son?

(4) How disobedient was a son towards his father?

15,

What can make us feel rich and happy?
(1) dependent life

(2) astay at country side

(3) apositive attitude and true spirit
(4) imported lamps, a dog and a patio

16.

When your friend is in need of money and you don’t have any money to help him, how do
you express your inability?

(1) Icannever helpyou

(2) Itis none of your business

(3) Getaway from here

(4) Iam very sorry, I don’t have either

17.

What are the features of a one act play?
(1) Focus on one incident (2) Minimal characters
(3) Both (1)and (2) (4) Fantasy

18.

V-General English

Identify the positive quality / qualities given below.

a) haughty

b) trusting

c) idealistic

d) cautious i e
' and (c only
t;; 23, (b) fm)d (c) (4) (b), (c)and (d)

S5-A
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19. The boy was rewarded for his performance. 2,
(Fill in the blank with right collocatien)
(1) outraging (2) forgettable.:
(3) outstanding (4) allocating ~
20. ‘Oh, whata surprise!” What kind of expression is this? :
(1) Excitement (2) Annoyance
(3) Dejection (4) Grief -
21. ‘Itis such a delightful moment in my life ’ (
Which category does this expression best fits in? -
(1) Conversation (2) Diary entry 2
(3) Biographical sketch (4) Both(1)and (2).
22. ‘Pranam Guruji! I have a wish to present before you’. The sentence above can be the opening
remarks of 3
(1) Aspeech (2) Anessay
(3) A conversation (4) A formal letter
23. Shehad always been bad ______ languages. - st
(Choose the right preposition) 31
(1) in (2) at
(3) by (4) of —
24. Madan has a little sister. She is in Class 2. BE
(Combine the sentences using Relative clause ‘Who”)
(1) Madan who has a little sister is in Class 2. 3
(2) Madan has a little sister who is in Class 2.
(3) Madan has a little sister who she is in Class 2.
(4) Who is Madan’s little sister?
25 Which of the following words come first in a dictionary? T "
(1) repeat (2) repel
(3) receive (4) reality B -
- - , eSS V-(

V-General English 6-A
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26. Isaw my father’s face lighting up with contentment.
What is the synonym of the underlined word?
(1) satisfaction (2) consent
(3) connection (4) displeasure
27. You may take left and go straight to reach the post office.
(1) Givingdirections (2) Expressing possibility
(3) Refusinghelp (4) Giving permission
28. Which qualities do you find in Wangari Maathai?
(1) Environmentalist (2) Nobel prize winner
(3) Feminist (4) Allthe above
29. The anecdote of Socrates teaches us that can lead to success.
(1) aweakdesire (2) abuming desire
(3) airto breathe (4) drowning in water

30. He found the world of Apu so fascinating that he saw all three films in one sitting.
(Choose the appropriate antonym for the underlined word)

(1) boring (2) curious
(3) wonderful (4) 1irregular
31. What is the one word substitute for ‘A film that gives facts about something’?
(1) didactic (2) documentary
(3) aesthetics (4) portal
32. The speaker’s / writer’s personal opinion is expressed in
(1) A Diaryentry (2) Informal letter
(3) Job application (4) Both(1)and (2)

33.  We have experienced that animals are endangered in the poem “Or will the Dreamer Wake'.
This can be best explained as ‘Extinction of Wild Life’ in the form of

(1) Aspeech (2) A message

(3) Biography (4) A statement
34. Raju mu;rccovcr within a couple of days.

(1) Suggestion (2) Possibility

(3) Offer (4) Statement
v-General English 7-A
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35. What s the theme behind the lesson ‘The Journey?’ |
(1) Humanrelations (2) Umty. _
(3) Pcrsbnality development (4) Bio-diversity
36. To Roberge, Ray was not _
(1) a famous director (2) screex.lplay WELIKD
(3) aliving museum piece (4) anartist
37. Pick out the Rhyming words from the following.
(1) boo-boo (2) zg-zag
(3) hanky-panky (4) tick-tock
38. The manreversed the car.
(Change into Passive Voice)
(1) JThe carreverses by the man.
(2) The car was reversed by the man.
(3) The car may be reversed by the man.
- (4) The man was reversed by the car.
39. It’stime you seriously about your future.
(Choose the right verb from the options given below)
(1) thought (2) think
(3) may have thought (4) will think
40. Pickout the word with wrong spelling. -
(1) departed (2) absolutly
(3) detractors’ (4) dialogue
41. Ramya will announce the news. 7
(Change into Passive Voice)
(1) The news will announce Ramya.
(2) Thenews will announced by Ramya.
(3) Thenews was announced by Ramya.
(4) Thenews will be announced by Ramya.
42. The course of a person’s life is presented in SRS
(1) amessage (2) asituation
(3) abiography (4) a formal letter B
V-General English 8-A
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43. What does it mean when Wangari Maathai said, “When we plant a tree, we plant hope™.
(1) Trees are the source of life for future generations.
(2) The planting of exotic species can retain water for vegetation.
(3) We can cut down the old trees and plant new ones.
(4) We may plant a tree and hope only in the rural areas.

44.  Which qualities in Nick won him the Australian young Citizen of the year award?
(1)  his unsuccessful attempt to suicide
(2) his love and respect for parents
(3) hisbravery and perseverance
(4) lack of purpose in life

45. Thave cut my finger. The underlined phraseisin tense.
(1) Present tense (2) Present Perfect tense
(3) Past tense | (4) Past Perfect tense

46. I'want this parcel to be sent right a:zvay.
Find the meaning of the word underlined according to the context.
(1) immediately (2) completely
(3) appropriately (4) faraway
47. Suresh, who studies class 0, has left the school just now? :
(What type of clause is the underlined part?)

(1) Defining relative clause (2) Non-defining relative clause
(3) Adverbial clause (4) Verbphrase
48. Which of the following is necessary for a conversation?
(1) A theme/issue (2) Two or more people
(3) Aresolution (4) Allthe above
49. The poem ‘Once Upon a Time’ is
(1) A father’s emotions (2) A conversation
(3) A message (4) Aspeech

50. Abel was in distress to see his daughters dividing his property. How could he express his
inner feelings?

(1) through a description (2) through a diary entry
(3) through a letter to friend (4) all the above
V-General English 9-A
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PART - 11 : MATHEMATICS

. _ . log!? 1 100) I 421 g
51. The centroid of the triangle whose vertices are (Ogm’ 0810 )»| 1084 »1085 | apg

1
(logé,log?sJ is
1

2 S )
(1°gig,1og}3°),(logi Jlog} )asaaosoa [1og'5,log525] Dot Yoo 8oyoom HOAS Bzon

K &soEo
2 47
(1) (5,3) (2) (1, 1) (3) (0,-1) (4) (5,5]
‘:98+\/x2—12x+36:|
52. Iflog,, =2 thenx=
(I) 2or4 (2) 4or8 (3) 8orl6 (4) —4or8
[98+\/x2——12x+36]
log,, =2 ©®o0d x =
(1) 284 (2) 48w 38 (3) 88z 16 (4) —4 88
53 Ifa= 16 and b =9 then how many of the following are rational?
\/a+b,\/;l;,\/a—b,\/—i—
a =16 508050 b =9 wond & Bod TIS' IY) wEsBoH Sopger wHTOR!
a
\/a+b,x/;—b_,\/a—-b,\/%
(1) 1 (2) 2 (3) 3 4) 4
R
(1) 5 (2) 1 (3) 25 (4) l_
'-Maths 10-A

st
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55. If x=023 and y=0.2 then the value of P —q, where x + y is written in the form of £

q
(9#0,p,ge Z and GCD of p, q is 1)
x=023,y=02 wonsHdk x +y Eﬁsg- (g#0,p,qe Z, p, g © K.z 1) Erdoes®
TRI/9& p — g dend
(1) 55 (2) 6
(3) -6 (4) 16

56.

Which of the following statement is false; where set A and set B are equal?
Q8 A H508050 H& B ewy RIS, & Bod TIS* D PIBIo wISg0?
(1) n(A)=n(B) (2) A=B

(3) B-A=¢ (4) A-B=A

57.

IfA={x:x2-5x+6=0},B={x :xz—xr;6=0'} then find the correct matching.

A={x:x>-5x+6=0},B={x:x2—x—6=0} ®c03 §0d FJe* DOGS BEBKHEES
0 S0dn.

i) AUB p) {2}
ii) ANB 9 {2}
iii) A-B n {223}
iv) B-A s) {3}

(1) (@)= (@), (i) = ), (i) = @), (v) = @)
2) Q)= (), (i) = (@), (i) = (), (¥) - ()
(3) (i) = (), (ii) = @), (i) > @), () = )
@ (i) = @), i) = () (i) = @), () = (@)

V-Maths

11-A
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—

. bt f7

Which of the following sets the shaded part 1 representing!
[V 4 A ?
BoB TS* D dWdoen & VWD (o0& R) JTVRQT)0N:

A B H

) A-(A-B) i) ANB iii) A-B
Correct option is

DBRS JSrerSo

(1) @), (id) (2) @@, (i)
(3) (), (iii) (4) All (o))

59.

and Q is the subset of P which contains all the

Let P= {5,7:,J§,—3,8+J§,9,—1—}
7°\2
elements from it which are irrational numbers then n(Q) =

6
P={5,7[,-\/5,—3,8+\/§,7,%}@263§‘£6353o. Q s P RB0E), GIJD8 Sododn

Q &, P &* Ko o) §6680% Sopgen Swroseom &ol n(Q) =
(1) 3 (2) 5 (3) 4 4 2

60.

If A= {sin0°, cos60°, tan45°, cosec30°} and B = {cot90°, sin30°, cot45°, sec30°} then
ANB=

A = {sin0° cos60°, tand5°, cosec30°} So8asw B = {cot90°, sin30°, cotds®, sec3l’)
@ond A[B=

‘ 3
(1) {0,—-,1} 2y Jo Ll Y3
9 (2) { 3% 1.2
(3) {2} (4) {ﬁl
2 |
V-Maths 12-A
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If o and P are the zeroes of the polynomial x2S

x + 6 then —l—+
o

61.
1 1
2+ 5x+ 6 @ 2I0H8 Bog), Lrarg & $08050 P ©o0d ;+-ﬁ=
5 11
= 2) —
< (2) 30
6 =5
3) — 4) —
(3) . “4)
62. If ‘—4’ is a zero of the polynomial x* —x — (2 + 2k) then k=
X2 —x — 2+ 2k) 0 2fvHds wf g0 ‘4’ @ond k=
1 9 2) 3
3) -9 (4) 6
63. The distance between the two intersecting points of x-axis and the graph of
p()=x2-3x—4is_____ units.
x-e0go 8050 p(x) = x2 — 3x — 4 0 ITVIB BgrdEre Dok Podd HoPhe Sy
Grdo _ oSrden.
() 2 (2) 3
(3) 4 4) 5
4
-8
64. Find the quotient of ————.
x“+2x+4
HE
—z—x———gi—daaoéz, eriHeoo ESod.
x“+2x+4
(1) x2+2x+1 (2) x2-2x+1
(3) x(x-2) (4 x*+2
V-Maths 13-A
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: ial p(x) such that o + B + y =
: . the zeroes of the polynomia Y=3
65. Assertion (A): gﬁai%yyf;i =e_210 nd 0By = _24 then p(x) = X=3x2—10x + 2.

Reason (R):  The graph of the cubic polynomia}, whose zeroes are all real, Intersects
the x-axis atmost three distinct points.

6!

Now, choose the correct answer. ) .
(1) Both Assertion and Reason are true and Reason 1S supporting the Assertion,

(2) Both Assertion and Reason are true but Reason is not supporting the Assertion,

(3) Assertion is true but Reason is false.
(4) Assertion is false but Reason is true. 6¢
FgargSo(A): p(x) ©3 w5068 a, B, Y oo Lrarged 5008050 o+ P +y=3,
of + By +you=—-10, So8c30 offy =24 ®oNd
p(x) =x3 - 3x% — 10x + 24,

S6mo(R):  af Hswsuss Gng, drogew ©f) TRTer sowd md dydge |
X—05Q) K830 S IHI) Doy 5(3 Pod0B.

QSpts VOGS BIFTTY IS,

(1) agargdo, 5760 Bodr &g, 560, TgPgTA) D508:908. E

(2) argwrgdo, s°8e00 Bodr Je&gD. 5°Q, 5°8wo0, TSI GTR) é;’)ogoﬁda.
(3) Tgargdo d&g0, 5 o wISg0.
(4) ogrrgdo wddg0, 5°Q 5760 H&g0.

66. If (X+y,x—y)=(log§,log}8) then the value of 2x — 3y — 1 is

(x+y,x—y)=(log§,log}8) ©o0d 2x — 3y — | RBg). Dend

(1) sin 90° (2) cos 90°

(3) tan90° @) sin 30° B
67. Ifthe system of equati = :

o _y quations 3x+y =1 and 2k~ Dx+ (k— 1)y =2k+ 1 are ‘nconsistent thet 72

z.l':"f‘_v: 1 08050 (2/\'— I)X‘{‘(k— ]));=2k+1 @365)050 éb&éd&‘&"@ 0‘585‘2 @éoﬁé:ﬂo‘wé

W (2) 0
w___h‘(J) -1 (4), 2 % vy
V-Maths 14-A 4 -yl N
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2 3 5 4
68 . If=+=-13 =S S
'y and 3 2 then the solution is

2 3
S+ =13 S0085, S 4

—— — —

Xy p y——2 O3 BV e

-1 -] %

n (21 11 11 11
- (2’3) =) (?5) ) (3’2J *) (“J.
69. fax+by=g2_p2

2’3
and bx + ay = () thep the value of ‘x — y’is
ax + by = g2 — b2 $580%; bx

tTay=0 wond X =y dend

(1) a? -2 2) b-a (3) a+b 4) @+
7. 1+2434+ 4 p _
1+3+5+...+(2n—1)
n n+1 n-—1 2
(1) = 2 3) —— 4) =
> @ = & )
7. Graphically ¥+ 2 =0 represents a line

(1) parallel and below to X-axis at a distance of 2 units from X-axis

(2) parallel and left side to y-axis at a distance of 2 units from y-axis
(3) parallel and above to x-axis at a distance of 2 units from x-axis

(4) parallel and right side to y-axis at a distance of 2 units from y-axis

VPG Do y +2 =0 0 5N0E6mo Do SYeL-TeE N

(1) x-e980 S00& 2 oﬁJJ“c‘Oég Br8osS’ X-w5rd8 dSrosson BN IH Sotod
(2) y-»80 S08 2 Rrdl) Sr8osS® y-u5rd8 Hirossom JES S Golnod
(3) x-®go %08 2 chrdly Er8os® X-urds dHEroSSomr kS I &ood
(4) y-©80 £08& 2 crdly Er8os® y-o58 dSrosson DEIYS Sotnod

] 1 1 : -
9 y are In A.P. thenx =
A x+2 x+3 x+5

1 1 1
x+2 x+3 x+5
(1) 5 (2) 3 (3) 1 (4) 27

@58 AP & o8 x=

V-Maths 15-A
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73. 1f 18, a, b,-3 are in A.P. then a® — 2ab + b* =
18, a, b, —3en» APS &od a?—2ab+b*=
3) 74 4) 49
(1) 441 (2) 121 (3)
74. Iflogp, logg, logr are in A.P. then ¢* — pr =
logp, logg, logreo APS® o8 ¢>—pr=___
(1) 0 @ 1 (3) -1 (PP
75. The angles of aright angled triangle are in A.P. and the sma}lest angle is 30° then the ratio
of its sides which are opposite to that angles and in ascending order.
2§ ©ontn BHz2os* Hrd Swreo AP & §o) 0050 FTES* 8IS o 30°
©ond & Frof BT &l HEred W8TD ES00s® &Aydy T8 AQE.
(1) V2:1:2 2 1:2:43
(3) 1:4/3:2 (4) 1:2:3
76. If origin is the centroid of a triangle, whose vertices are (3, 2), (=6, y) and (3, —2) then
y =
(3, 2), (-6, ¥) (3, —2) toreorr KOAS Bebzu Goog) HEEoE0 SareDoddy) wond
y p—
(1) 0 (2) 3 (3) 2 4) 6
77. The ratio in which the line segment joining P(x,, y,) and Q(x,, y,) is divided by x-axis is
P(x}, y;) $8050 Q(x,, y,) DooIod Seoy Srpom) x- ©fo o Q.
(1) —y|:y2 (2) yl:y;)_
(3) xx () e i
78. The distance between the points (a cos6, 0), (0, a sin6), where @ > 0 is
(a cosb, 0), (0, a sinB) HochHo &g srdo (a > 0)
(1) a 2 a (3) 1 4) a
79. In AABC, D(1, 3), E(=2, 7), F(2, +5) are the midpoints of the sides BC, AC and AB
respectively, then the area of AABC=_ sq. units.
AABCs* D(1, 3), E(-2, 7), F(2, -5) @32 36 BC, AC S080sn» AB ghereb 965
DohHoond AABC 3Teogo ¥5.0%00.
(1) 10 (2) 20 (3) 30 (4) 40
V-Mathe 16-A T
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80. If ‘k’ is the altitude of an equilateral triangle then its area is (sq.units)
a8 dHoerdo (@ghzo BN, &N vond TR ITego (55,0307 ew)
(1) ],2 (2 ﬁ e _h_. 4 h
3 ) B () A “4) 3
81. Inarhombus ABCD, AB=4cm,then AC2+BD?= cm?.
ABCD cro29e* AB =4 20.00. wowd AC?+BD? = %, 0.0.
(1) 80 2) 72 (3) 64 (4) 32
82. ABCisaright triangle right angled at ‘C’. GivenBC=a=4cm,CA=b=3cm and ‘p’ be
the length of perpendicular from ‘C’on ABthenp=___ cm.
oonfm @abzo ABC &° wonfm 3¢s5n ‘C’ 3¢ fod. BC=a=4 0.0,
CA=b=320.5. 58050 3650 ‘C” &o0& AB & ADS wowdn P8I P’ o aS0dS,
p= 200.20.
15 20 12
fakl — 4) —
(1) 5 @ - 3) 35 @ =
83. ‘O’is the centre of the two concentric circles radii 13 cm, 5 cm. If AB is a tangent of inner
circle, where A, B are two points on the outer circle, then AB = cm.
13 0.2, 5 0.0, FgFTm KOS Todd D8 o Syze SoEo0’Hdasn AB
@088 )BoI% 2y50. A, B e ety S)80 Bodky Docdhen wonsd AB=_
200.80.
DY
(1) 11 (2) 12 (3) 22 (4) 24
V-Maths 17-A
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84. From 11.10 below following figure, ‘O’ is the centre of the circ}l(i:.c;ll’of}: ;1: f%){llgr\:/llar: p?sl?} land 8§
- PA, PB are two tangents drawn from P to the circle. Then wh £ 18 false?

0B 50 £08, 0" Sy Folgo. R mirgod” o8 BotoH P04 STV HDS gRpe;
PA, PB eowd §o8 $Is* 28 wddgo?

A
8
P
B G
(1) PA=PB (2) 0A=0OB

(3) ZOAP=ZOBP=90° (4) LP(?A = /POB =60

85. ‘O’isthe centre of the éhcle and PA, PB are two tangents drawn from the external point ‘P’ (

then x° = :
‘0’ $)8 Soo H0BcsH wrirgDod P’ S00d A8 ADS dGdpeo PA, PB eo woxd
x° = | -

(1) 60° (2) 100° (3) 110° (4) 120°

86. The area of sector, whose radius is 7 cm with a sector angle 72°
256 §'0072°6 7 0.2. Fgrgormr fo g ITego

(1) 30.8 cm? (2) 28.8cm? (3) 154 cm?® (4) 88 cm’ &
, 2 tan 30°
87 — =

1+ tan” 30°

(l) Sil] ()()0 (2) C()S ()()() (3) t;ln ()0\) (4) Sil‘l 300 -
V-Maths 18-A
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88. Which of the following are true?
808 TIS* DD Deégo?
i) sin®0 =1 - cos?0
ii) sec’@=1+tan0
iii) cosec?® =1 — cot?0

(1) @), (i) (2) (i), (i) (3) (), (i) (4) (), (ii), (iii)
89. cos®1°+cos>2°+cos?3°+...+cos” 89° +cos” 90° =
1 1
1 ey 2) 0 3)° el 4) 1
(1) 45 5 (2) (3)" 44 ; 4)

90. Iftan x°=sin 45° - cos 45° + sin 30° then x° =

tan x° = sin 45° - cos 45° + sin 30° @008 x° =
(1) 45° @) 90° 3) 0° (4) %

91. At a particular time, if the 1éﬁgth of the shadow of a tower of height 20 mtrs is

2043 mtrs, then the angle of elevation of the Sun is

28 D9Y HR0DH0S’, 20 b FEY Ho LIE BwY, 8 F6H 20V3 . eFHions,
& J300900S" JrdgAS’ gm0

(1) 30° (2) 45° (3) 60° (4) 90°

92. A ladder 15 m long just reaches the top of a vertical wall. If the ladder makes an angle of
60° with the wall, then the height of the wall 1s metres.
15 2o, SeHKe IS AE Derm) FOM Sv5dr, FES* 60° Emo BB, wond
R &y D,
(1) 1545 @ 158 ¢ = @ 13

93. The median of first 8 prime numbers is
3068 8 Derd DSompge grdo
(1) 11 (2) 7 3) 9 4) 13
94. The mean of 13 scores is 8. If one of the scores 20 is deleted from them, the average of
the remaining scores is
13 408eaore HELn 8. & HBsoT0Te 208 o H08oTodo 20 d Sohodm, DADS

obe S0°00 -

M 1 (@) 10 (3) 14 @ 7

V-Maths 19-A
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e
oy i 0°<0<90°
95. The range of the maximum and minimum valui:s of 5129, th‘:’.: ¢ Flliar
0° < B < 90° wanSHdo sind @ng, KOG, B DLV T§n @
() 0 2) -2 3 -l :
96. If the mode of the data 3, 1, 4,3,5,7,3,9,3isx % 1, then the value of 2x* + 3; 4 |

- E& ’
3,1,4,3,5,7,3,9,3 o3 dgrodo @08, rodo x + 1 @ond 2x° + 3x + | g,
Qend

1 11 2) 13 3) 6 (4) 15
1 .
97. If the mean of x,l is ‘k’ then the mean of x3,——3- 1S
x x
1 . 3 X) 3 1 o
X,— © difen K wond x7,— © di5en )
x X
k-3 3
(n B - 2) B+3 (3) k(4K -3) 4 7
98. IfP(E)—P(E)=—§-thenﬁndP(E)
P(E)—P(E)=% wond P(E) o §omcosn.
M @ 2 3 * @ 2
3 6 6 3
99. Inasingle throw of two dice, the probability of getting a total of 11 on the two top faces of

the dice is
Bodh FdEo 2830 FRoAIY, T8 DingreD Iy dopge Jwogo 11 oHLR
Dogrdgd

(1 1 @ 1 1 35
) % ) 18 3 7 @ 3%
100. Which of the following cannot be the probability of an event?
ol TS DB 2l Db k), éoz‘p‘“iﬁgé eI A Ego §e?
2 i
(1) 3 (2) 1.0 (3) -1.5 (4) 15%
V-Maths 20-A
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PART - 111 : SOCIAL STUDIES

101. Gravel and pebble sediments at the foot hills of shivaliks are called

(1) Terai (2) Doab (3) Bhabar (4) Bhangar
35708 ddgero S&eriioest Ko Heolordleen
(1) BoaeS (2) &S (3) o6 (4) Z5oK56

102. The southern boundary of Deccan Plateau is
(1) Satpurarange (2) Nilgiris (3) Kanyakumari (4) Aravalli
58,5 HEErd Bog), B8 HOTE
(1) JFSNo°@e3 (2) dond deren (3) Eargsodrd (4) ©oS?

103. Canara Coast : Karnataka :: Malabar Coast :

(1) Kerala (2) Maharashtra  (3) AndhraPradesh (4) TamilNadu
3300 &0 : Sl 1 Heerd 8o :
(1) s&¢ 2) ST (3) wo$HBT (4) SngT

104. Ifitis 10 am on 0° longitude, then what time will it be in India?
0°Bgrodo $& oo 10 Koboew @08, PrESBF0oS" Y Jod JJado ©Hod?

(1) 5.30pm (2) 5.30am (3) 3.30am (4) 3.30pm
105. Schooling revolution occurred in the state

(1) Himachal Pradesh (2) Bihar

(3) Arunachal Pradesh (4) Uttar Pradesh

FETO DTZANVS50 J0IDONS T°Zo

(1) SerssS HAT (2) 256

(3) eSS HBT : (4) &8 PaT

106. Which among the following statements is/are true?
A) Different persons can have different developmental goals.
B) Development for one may not be the development for the other.

(1) (A)only (2) (B)only
(3) Both(A)and (B) (4) None of the two

808 TFFOS" JB/AD HBZ0?
A)  Fogl Sghyen FogH @S oFTgods EON Golrd.
B) %08 @:D;{Ja% @008 6508 ©DHIB SR EPSE).

(1) (A) Sr@d (2) (B) S
(3) (A)So8sn (B) Bodr (4) DoboBs* D& s
V-Social Studies 214 -
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107. Which of the following statements is not correc e
(1) Infant mortality rate is the number of children who di€ within one year, out of |,

live children born. .
SVOIDHLENICOR population in the 5 and above age groy,

(2) Literacy rate is the percentage of literate : . _
(3) Net attendance rate is the percentage of school attending children in the age grg,,

6-17. .

(4) Fertility rate is the number of t

Bod TSt DB $BHH 5°K0?

(1) @eros HES ©8 Songhod Dy, Sodgso 5050
oo dopgd FHIobeTro B ®odrdd. -

(2) 5 doSSoren, vod NodE Sl Ao TS VETGO TER) wgTige
TS0 Wolrsd.

(3) 6-17 Jo3gore S0 YOS &8 S8 Vyo TER) QEE Fud T
WO &,

(4) 8 ¢ JHKENS JodS0d vy =5RNNE" BOCHED T PO Tt
Wotr&.

otal births per woman on average.

QosBoTI zﬁa:)'a;;a

108. Goods are not directly produced in

(1) Primary sector (2) Secondary sector
(3) Tertiary sector , (4) Unorganised sector
SHHeo I <S8 B ordn

(1) @&8 oo (2) &gdc%H SoKo

(3) &ydaH odlo (4) ©303088 Soko

109. Each one appears that he/she is doing some work, but no one is fully employed this
situation is called

(1) Partial employment - (2) Disguised unemployment

(3) Unemployment (4)  General employment

8 28,67 5 BRHB Gotnod M 588 $3 g 48 Fogrge Hsk O &0
& H0PBI DD HeLLH? - ®

(1) 8 &rd (2) OH%) A&'gio
(3) J&&gho (4) s a6
V-Social Studies 22-A
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110. (A): Coromandel Coast of Tamil Nadu receives less rain fall from south-west monsoon.
(R) : Coromandel Coast is in the rain shadow arca of the Arabian sca branch and is parallel

to the Bay of Bengal branch.
(1) Both (A) and (R) are true and (R) is the correct reason for (A)
(2) Both (A) and (R) are true but (R) is not the correct reason for (A)
(3) (A)is true but (R) is false
(4) Both (A)and (R) are false
(A): SDETES FE3008S BE0eS® K8 adoddTo Hod S80S SgFrdo

Golwod.

(R) : §65004865 8o wdAS e IS TP SE@rasr (Frodoe*S, worregrdo TP
ddroddomr Gotnod.

(1) (A) S080%0 (R) Bodkr ddgsn Sodas» (A) 8 (R) S0& 5°8e0

(2) (A) H08050 (R)Bodr 38550 5 (A) 8 (R) 908 5700 570

(3) (A) J8g5%, 529 (R) ©d8g50

(4) (A) 308050 (R) Bodr ed&gs0

111. Which among the following statements is/are true?
(A) Temperatures raise as we go away from the equator.
(B) InIndia, the northern part is in tropical zone.
(1) (A)only (2) (B)only
(3) Both(A)and(B) (4) None of the two
Bod T5egees’ JBDIIB /D0GS:
(A) 75650 $0d Erdor I F§ efider D&hre ow.
(B) r88340e® &880 H5038°) 0080065 $o8a%0 S8 wrKo &Y Sodwos

< 08.
(1) (A) S»g (2) (B) Sm@
(3) (A) $00050 (B) dodor (4) QBoko&e* A8 5

112. The trade winds blow
(1) From polar high pressure belt to sub polar low pressure belt.

(2) From sub tropical high pressure belt to equatorial low pressure belt.
(3) From sub tropical high pressure belt to sub polar low pressure belt.
(4) From polar high pressure belt to equatorial low pressure belt.

Tgrd DIT 0

(1) &yd s Htss Do S0b GHGS wo)y DS Dpo o,
(2) &b ©wosd Bar whE DHS 33:‘13.0 008 Erdogir we)y LS Joposs dawn.
(3) &b woHd B whE HES Dpo od GHGS vy S Dposs ddrown.

(4) &ys whs Lds Dpo Dob Srdgdy weoy fb.:a.b Dpos ddrow.

V-Social Studies 23-A
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arding Jet streams is false?

113. Which among the following statements re‘g .
(1) The upper air currents are known as ‘Jet stretz) :
(2) Jet streams form above the altitude of 12,000 m.
(3) Their speed is 110 km/h in summer.
(4) Their speed is 84 km/h in winter.

BE PaTFFosH Sowofod HO5°R TEIN
(1) &3880 acsn Podtod BE B0’ 0t &.
(2) BE Bosreo 12,000 hobg KNS IE)ESTOD.

(3) IdDe5® D3 S0 Kokado 110 &.2.

(4) 3esre0e”® DB K0 Kodrdo 84 8.2.

114. Find the mismatched pair.

(1) Godavari - Trimbak Plateau (2) Krishna - Mahabaleshwar
(3) Narmada- Amarkantak (4) Tapti-Sihawa
SAPMT BEIET2ES 2388 8089 08.
(1) Fors6-gahons HErL (2) E[-DST2BHE6
(3) 88 8-w508,008 (4) $58-2555
115. Tributaries of River Brahmaputra
(1) Siangand Dihang (2) Dibang and Lohit
(3) Beas and Sutlej (4) Gandak and Kosi
TRE I8 Bg GHISe
(1) Rasrofi Hbako BIoh (2)  Berof Sovcsn S'ers
(3) DSrd So8as» NI (4) Ko&§ Zo60%0 £%25

IT6. Which of the following is not a character of Peninsular rivers?

(1) fixed cours; (2) existence of meanders
(3) non-perennial flow of water (4) all the above

5533503 Mo BE) ©fpo 56
(1) 3603 Barse Srgo

‘ (2) SE&en (meanders) &odio
(3) 2350 5S¢0

(4) TQESX)Q

117. Atthe time of independence literacy rate in India was

FySogso zéig_):‘ééjéo T ESBFoes*

(1) 2% (2) 4% .
L ’ (J) 129 (4) 20% .
V-w Studies 3 2A 4—//;
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118. The state with positive sex ratio in

(1) Kerala (2) Bihar

(3) AndhraPradesh (4) Himachal Pradesh

Fdodro ol QB o ooRSw;

(1) sg¢ (2) 56

(3) wodHAT (4) rSruS HAT
119. sector provides the bulk of employment in India.

(1) Agricultural sector (2) Industrial sector

(3) Service sector (4) Software sector

TESBI0S" 0ERE So0bS GFE §0y08 ol

(1) Sgdara Sofio (2) BEE Goko

(3) & BoKo (4) FPI6 Sodlo

120. Which among the following statements is not correct?
(1) Globalisation is the process of rapid integration of countries.
(2) Liberalisation policies helped for the growth of globalisation.
(3) Some new jobs are created due to globalisation.
(4) The impact of globalisation in India is uniform.
8o Frsrgees’ V05
(1) BHodESn w38 Brew Jomr ©HBoTSHg BED.
(2) $69E6e Jparen WHowEsn JHRE &Eyzon.
(3) PHoDESe seEmorm Q) FE GEgmer Synoiagon.
(4) rE8BF0S" (HHoDES Werdo JEB8M &ob.

121. Which of the following are referred as World Bank?

B0 TES (HHots wrgodorm SgHTrOoEaBD
(1) IBRD&IDA (2) IBRD&IMF (3) IMF&IDA (4) IMF&WTO

122. Which of the following grains grow with less amount of water and have good nutritious

values?
(1) Rice (2) Wheat
(3) (1)and(2) (4) Finger millet (Ragt)
Bob T8 O grdgo 5D ABE DEHRE0E Hdcsnw Dol A dwwdol EOA
€ od0ol?
(1) &8 (2) A'Godo
(3) (1) Sodcsw (2) (4) oeo (Finger millet)
V-Social Studies 25-A
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123. National Institute of Nutrition is situated at -
- hennat (4) Vish
(1) Hyderabad (2) Dellu 3) C akhapaman
2 BOS FASTE Hod Ko SHEHN:
y (3) 33 (4) 2Ty,

(1) >ooers (2) &9

les conference.
(2) Austria, Turkey
(4) Britain, France

124. These countries were not invited for Versail
(1) Russia, Germany

(3) (1)and(2)
530S JIFITIS & BT @é‘saoéwéé&.

(1) &g, 28 2) wgose, b
(3) (1) %8050 (2) 4) ©LS, @

125. USA could not become a member of the league of Nations because
A) The parliament refused America to join in it. | S
B) Woodrow Wilson, the president of USA did not like to join 1 it.

(1) (A)only (2) (B)only

(3) Both(A)and(B) (4) None of the two
OIS TTEd DWNBS® JeigEto FoEBE JOLIEIT:

A) o085 ©odS® VI8 FPIotn JT°EBoV0H.

B) o085 vt GI& QR ©olds” D88 aés’aéééa.
(1) (&) s 2) (B) soisid

(3) (A)S00a50(B) (4) To&od3ess® D& 57

126. Which of the following was/were the effect(s) of great depression?
A) Prices and demand crashed down B)
C) Farmers stopped cultivation

(1) (B)and(C)only (2) (A)and(B)onl
(3) (A),(B)and(C) (4) (A)and (C) onlz
Bob TS GBE Ircigo B HOSS50/HO e ers:

A)  G8ed, &Sro& HEDSSITon B)
C) 2den Sgdaroso ebhdzd

(1) (B) %0050 (C) do@k ]
(3) (A). (B) 5:0055(C) (2) (A) Sobosn(B) s

o (4) “(A) S08050(C) S 5

Factories were closed down

PrgEden Sarddaraw

V-Social Studies 26-A '
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127. Which among the follow

\

: Ing statements is/are true?
A)  Bismarck was the Germany chancellor,

B)  He decided to 1solate France after defeating it in 1870,
(1) (A)only

2) (B)onl
(3) BO‘h(A)and(B) (2) (B)only

(4) None of the two
$od TEgoSt é&@oé&/éb@aé&):

A DIE, asd THoS.
B) ©8%1870 et
(1) (A) o3

() (A) 308055 (B) 3oty

Y 88003 S0 A 2,080 JoSred QEa00wr%
@) (B) s
(4) BoBoBeS* 96 mes

.

— W e AL
128. The country that became a Weimar Republic in 1918 was
(1)  Germany (2) Britain (3) Italy (4) France
1918 ©* 356 83086 sros A%
(1) =60 (2) LS (3) abd 4) @5
129. The American President who declared “New Deal” was
(1) Roosevelt (2) Truman (3) Kennedy (4) Joe Byden
“SoresS wdoso” (New Deal) RELBoNS ©Jdse CTAI VS
(1) sr&38 () wrHs (3) 3 4) = 3as

. After the World War 11, many of the Nazi leaders were put to trial in the famous

trials.

(1) Munich (2) Berlin (3) Moscow 4 Nuremberg
BoHS @’aéoéoﬁwgo BT0d T FORHOS* TS50 Q.’sz*’gé DT EenereS*
aS‘E:éboa‘da.

(1) Sorgds (2) 38 (3) Sody (4) Sogdoard
131. “The rise and fall of the third Reich’ was the book written by

(1) George Orwell (2) Telford Taylor

(3) W. Shirer (4) Pastor Niemoeller

'8 88 ©ob >E uh B 6§ 65 oI Ko FSand

(1) =§ s (2) BSH§ 6305.

(3) dens.bs8 (4) Y6 ddrod

ﬂt‘)‘ e ———————————
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was '
t dcprcssmn?

h five-year plans? i
gon were compromised in USSR?

din USSR?

132. The theme of the novel Animal Farm’
(1) How USSR escaped from the grea
(2) How Stalin developed USSR throu.
(3) How the ideals of Russian Revolptl
(4) How the education was universalize

‘PSS P SHo 2BSYER0 ( 3 ;
(1) o50.09.08.65 &5 esgé Sr0dgo 2308 @ o éo‘)o?;\)é’lgé‘&?
(2) TOS B0.IR.IV.e6 & Ho8E Berdse GO QT ;a& gdg ?,
(3) SAgS PP B, BETHN $0.05.0%.68 &° DT AT QHRVTO0?
(4) 050.09.09.66 &° &g I Foq@8800snd08?

133. Find the mismatch.
(1) ‘Pakistan or The partition of India-
(2) “SareJahanseAcha...’- Muhammad Igbal
(3) Navy strike - M.S. Khan
(4) Muslim League - Muhammad Ali Jinnah
ST 2SD0AS TA Krgowod.
(1) ‘>e>S Bo 688 Ieas-H0waR0’ - dTE Searad JHBS
(2) ‘=5 e—sw:b...’ - oImb asnd
(3) Tsa¢ 3 - IN.IN.P°S
(4) 50200A-%0im6 ©d =am)

introduction’ - Sardar Vallabhbhai Patel

134. The Prime Minister of Britain during the World War II

(1) Churchill (2) Attlee (3) Baldwin (4) MacDonald

BodS (DPDHoTS oﬁ:og D06 AL DS oo®

(1) 555 (2) og (3) oS (4) DEETG
135. In 1947,. _was replaced as Viceroy of India by Mountbatten.

(1) Willington (2) Linlithgow (3) Irwin (4) Wavell

1947 &° @‘;25065 ST odSeréo SN AcH oSy,

(1) 20045 2) o598 (3) @ogS T @) 38

136. The Prime Minister who abolished the Privy purses was

(1) Jawaharlal Nehru

i _ 2) LalRB: .
(3) Indira Gandhi 54; Il\«/;lcl’gﬂ_l;adur‘ Shastri
o ool 86 B BES Ko arji Pesai
(1) 2556 Jdw

(2) 0‘6 2 ool oe/®
(3) =080 mob DT ErE TR

T ——————
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137. In Satara and Medinipur, independent Governments were declared during the

(1) Quit India movement (2) Civil disobedience movement
(3) Vande Mataram movement (4) Non co-operation movement
60" 0ASL DBIIrELS* RgSoE @eEbercen & wgh dB0hodt (HELoTnman.
(1) &8 =08l evsgoo (2) T3 QoMS ergio
(3) SodSr&so G g0 (4) JF%0%H JoEES S0
138. The constitution of India was finally adopted by the constituent assembly on :
(1) 1946 December 6 (2) 1947 August 15
(3) 1949 November 26 (4) 1950 January 26
w88 oargoio 02 gofidYy BE 08 edrEo FodS 88
(1) 1946 &o=b5 6 (2) 1947 estfiy 15
(3) 1949 $%50=226 26 (4) 1950 =556 26

139. “Unless we remove the disease, caste system, we cannot remove its symptom,
untouchability” whose remark is this?

(1) Maulana Hasrat Mohani (2) Pramatha Ranjan Thakur

(3) Ambedkar (4) Gandhiji

“Soo gHY ©I &R Fodowsom VINIES ©I &' LETR) FoRoSTIN” ©
SN VOTARA

(1) Fora SRS 3055 (2) PG BozS oosrs

(3) oS (4) molit

40. He represents the Nation but does not rule the Nation. He is the symbol of the nation and
all the nations decisions are made known by his seal. But he is bound by the advice of the
council of ministers. Who is ‘he’ in India? :

(1) The President (2) The Prime Minister
(3) The Chief Justice (4) The Chief Election Commissioner

€% Brag @adgge Srdte w0 Be)) FDosidh. vEH TS B, BF dgasrod
©30 308 orgod BOSHETE. wond 0@ Sgo FoF wEE Sdthiotrd
T ESBH0St ‘w8 S5E?

(1) og»e (2) B So@

(3) B&s agasrg (4) BFS e $aI6

41. The official languages act was passed in the year
©L50 iy B0 GIrbodndsd Jodé)do
(1) 1961 (2) 1963 (3) 1965 (4) 1967

"-Social Studies 29-A
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142.

Anti-Hindi agitation was started by DMK in Tamil Nadu because

(1) DMK believed Tamilians cannot learn Hindi.

(2) DMK believed the center was trying to foist Hindi on the rest of the country.

(3) DMK demanded Tamil to be declared as the national language.

(4) DMK was established against the domination of Hindi speaking States.
SDETES B.J0F rob 5888 woEESH (FEPoD0B O™

(1) Sohen Trod I&)EBER 8.203% 2rJo0d.

(2) BFoS*A ADS |FosmeD o KGoddsd Sol&o ©00E)RAE &.003 2" DoN0d.
(3) SR wBH AT BESoTed B8.J0F &Sros BRob.

143.

(4) &.003 Wob Srird oo wRHegE $g&08orr %‘3)01523&05-

This was not the aim of 42" constitutional Amendment
(1) Excluding the courts from election disputes.
(2) Strengthening the State Governments.

(3) Providing protection from judicial challenges to the laws of social and economic
transformation.

(4) Making the judiciary subservient to parliament.

28 4235 oargol dS80 ©Fgo 5

(1) Ao dzroro Sod Sdo QSTtonohdo.

(2) oF e et Hdo Baddo.

(3) JFdor=s, eagé SrEno 80 0208003 Ierodo IPgoRVEI0S 6‘3‘&‘ Sod BEe
gdyousdo.

(4) SgoRSgdndo rglon S*28d &oder Waodo.

144. JP movement was very prominent in
(1) Bihar and Gujarat (2) Punjab and Haryana
(3) Kerala and Tamil Nadu (4) Gujarat and Rajasthan
B g0 & oTeS” DE JEI 20A08.
(1) 556 S0805» Hzo s (2) Dozrd Hodoin rogo
(3) 38¢ 50803 SFTdd (4) Hz=o°E SoBASw TRYS
145. Panchsheel pact was signed between
(1) Indiaand China (2) Indiaand Pakistan
(3) Indiaand Russia (4) Indiaand Bangladesh
Sosie wdyodo & Bodd d7o Sgg 20A0d
(1) r88d¥o S00csn BT (2) 8830 0805w &S
(3) rd8td¥o Sobosn Garg (4) erdddFo 308050 aaon:_na%_
V-Social Studies WA, o e
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146. The Prime Minister who carried out the Mandal Commission report about OBC reservations

was

(1) P.V.Narasimha Rao (2) RajivGandhi

(3) V.P.Singh (4) Manmohan Singh

28D B8RS KB0D HoKS ENAS IFHED wHhen BHS PES 208
(1) 2.9. 38205 % (2) o&S mod

(3) 2. 0A (4) 263(5‘&3“5 oA

147. 73" constitutional amendment is associated to
(1) Local self Government at village level
(2) Local self Government at town and city level
(3) Abolition of right to property
(4) Abolition of privy purses and titles
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148. Emergency was imposed in India during the year
TESBFoes* SRS 56?8@ QBOB2ES DoIe)B80
(1) 1975 (2) 1973 (3) 1971 (4) 1969

149. Neelam Sanjeeva Reddy was
A) The first Indian President who was Unanimously elected.
B) The 6" President of India.
Which of the above statements 1s/are true?
(1) (A)only (2) - (B) only
(3) Both(A)and (B) (4) None of the two
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150. Jerusalem was the holy city for
(1) Jews (2) Christians
(3) Muslims (4) Jews, Christians and Muslims
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